b <«{ METAL

INSTALLATION USING
FLOOR FIXED POSTS

j
it I 14
AUy

eeeee




INSTALLATION

QN

Place first post in desired position.
Mark holes on the ground.

Top view
Note direction.

L1

Drill 3x holes with 8mm Masonry

drill bit.

Screw the post down to the ground
using 3x Anchor bolts.

PRO TIPS
Ensure post is level in both
directions.

Anchor bolts

Screen

Post

Attach the other leg to the screen using
the bolts/ screws provided.

PRO TIPS

Use care when installing bolts not
to damage the color coating.

"N
M8 o]
Nut 0

0\

M8 Washer <

Back side

Note direction.

M8 Bolts

<—>|
<—>|

o

/
i

ji
ﬁﬂﬂ

A

e Fix the screen and post to the pre-installed post.

M8 Washer

@ Mark 3x hole position on the second post.

Move screen and post to side.

I
)
|

1

/

i

n
W
i

/
g
7

[
.

Top view
Note direction.

©_=

Ly*»

L]

Drill 3x holes. Move the screen and post back into position.

Fix second post to ground using 3x Anchor bolts.




N\ v
B> d PARTS VIEW

/
M8 Locknut —a '> M8 Bolt Screen

M8 Locknut—%

AP
M8 washer —i M8 Bolt

M8 washer

M8 washer

@— M8 Locknut
@— M8 Locknut

Post —t

— Post
M8 Locknut —a_

M8 Locknut—=
e

M8 washer —

%gt%
Anchor @

Im—=—M8 washer

M8 Bolt e

bolts ®— M8 Locknut
e
Parts M8 %’ “e— M8 Locknut
washer
Screen X1
Post X 2 A g
% M8 Bolts x 8 Anchor @
M8 Locknut x 8 bolts
M8 Washer x 16
%%I!@ Anchor bolt X 6
Metal Garden Screen Ltd.
‘ ( Metal Garden Screen, Unit 2381
{ } 37 Westminster Buildings, Theatre Square
) & Nottingham. NG1 6DQ
‘ > Tel: +44 800 044 8412
Email: sales@metalgardenscreen.co.uk/

Website: https://metalgardenscreen.co.uk/

M E I AL REGISTERED IN ENGLAND
Company number: 9270750

Garden Sercen
f ® © in




